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(A) F
(B) ™
(C) 5
(D) I
(E) 0

x) = 0, then lim

x—i

cos™'(f(z)) =
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The integral that gives the area of the region that lies

below the x-axis and above f(z) = 2* — 8z — 9 is
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A) [ (@ +8z —2?) dz (B)f (2 — 8z — 9) da
0 -1
0 9

(C][ (9 + 82 — x?) dx (D) | (2* —8x—9) de
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(E) -/:E: x® de

~ (A






sinh™'(5) =

(A) 54 V26
(B) In(5 + v/24)
(C) In(5 + v/26)
(D) 5=

(E) 5
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The solution(s) of the equation

(25)* — 5% = 6 is (are)

(A) = = log;(2)

(B) = = log;(3) and = = log;(2)
(C) x = logy(3)

(D) @ = In(2)

(E) = In(3)






If f(z) =0+, then f'(z) =

{A} Bmﬁ-|—a:“

(B) (5% 4 3x3) 9=+

(C) In(9) 9=+

(D) In(9)(5x* + 3x*) 9=+«
(E} (mﬁ TS z“") 9::’+:¢'—-1
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If g(x) = f(x* + 3x) and f/(4) = 2, then

g'(1) =

(A) 2
(B) 10
(C) 5
(D) 11
(E) 22
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If f(x) = 21(22 — 12)! and f'(z) = Bﬁ

then f has a local minimum at

(A) z=0
(B)x =6and x =0
(C) =6
(D) =13

(E)z=2and z =6
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cos(sin'(x)) =

(A) V1 —z?
(B) v1 +a°

(C) ==

D) 7=

) 42
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If f(m) -~ Sinh_l(:ﬂz) , then f’(a:) ==

(A) A=
(B) o
(C)
(D) 25
(E) 2& cosh™'(z?)







de =

/ cosh®(z) — sinh®(z)
csch(z)

(A) In(esch(x)) + ¢
(B) sinh(z) + ¢

(C) cosh(x) + ¢

cosh®(x)—sinh®(z)
(D) Jesch(x) &

(E) 2cosh(z) + ¢
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If f(2) = &, f(x) = T4 and f(2) = 2650,
then f has inflection point(s) at
(A) =0
(By)z=1and z = —1
(Clz=1l,x=—land x =0
(D)a=1and 2 =10

(E)x=—1and z =0






lim (3 21:)1;{111{11::1:/2} -

r—1

(A) et/™)
(B) e2/m)
(C) e/7)
(D) oo
(E) 1
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The value(s) of ¢ that satisfyv(s) the conclusion
of Rolle’s Theorem of
f(z) = sin(x) — cos(x), @€ [ﬂ*?i._ﬂ is
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The Slant asymptote of f(z) = 5a + 3 + ¥

is

(A) y =5z
(B)y=5x+3
(C)y=5x+4

(E)y=5xz+5






/ dzx B
V16 — 92 gt

(A) 3sin”'(3z) + C
(B) 35sin () +C
(C) 3sin” () +C
(D) 3sin~'(z) + C
(E) 3sin'(f) + C
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sin(x)

(A) cos(z) e’
(B) — cos(z) e™'(®@)
(C) —etin'®

(D) — cos(z) e’
(E) 0
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